9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

4 131117128695
816|549 312|117
71219116514 |8 |3
114 312|897 516
6 78|53 /41219
9!/5 1216|718 3|4
31114 18[5/6[19 |72
2916|131 |7]|5|4 |8
58171914 21361
5164139 /28|17
2 /91118 /5|714|3]6
81713164 11529
308|216 |9]7 |54
1 /51712841693
941657 |3|1|8]2
713 8142|5196 1
6 1|97 |3 |8|2|4]|5
4 121519 1|63 7|8
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